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LESSON PRACTICE

Fill in the blanks.

1. Astraight line that intersects twoother straight lines is called a(n)

2. angles lie outside parallel lines crossedby a transversal.

3. angles lie inside parallel lines crossed by a transversal.

4. Given two parallel lines crossed by a transversal, corresponding angles are

5. Interior angles on the opposite sides of a transversal are called

interior angles.

6. If corresponding angles are congruent, the lines crossed by the transversal

must be

7. Given parallel lines cut by a transversal, the measures of two alternate

exterior angles are always (the same / different).

8. Given parallel lines, any pair of alternate interior angles are
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LESSON PRACTICE 7A

Use the drawing to answer the questions.

9. If mz1 = 60°,

then m/22 = 23 24

10. If mz1 = 60°,

then mz5 = 17 1 19 20

11. If mz1 = 70°, W10
13 14

thenm/6 =

12. If mz1 = 70°,

then mz9 Given: ER, MP, and No are Il.

13. If m/8 = 120°, The drawing is a sketch and not necessa
then m/12 = to scale.Do not makeany assumptions

14. If mZ8 = 120°,
about the lines and angles other than w

thenm/19 =
is actuallygiven. (Lines are assumedto
straight lines.)

15. Are 41 and 217 supplementary angles?

16. Are 42 and 213 alternate exterior angles?

17. Are 420 andL11 alternate exterior angles?

18. Assuming neither is a right angle, are 26 and 49 congruent?

19. Are 21 and 49 congruent?

20. If 412 = 213, are LN andRQ parallel?(Think of NQ as thetransversal.)
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